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QUESTION 1

A hosting company is migrating to cloud-based solutions. Their customers share a physical firewall cluster, subdivided
into individual logical firewalls for each customer. Projection data shows that the cloud service will soon deplete all the
resources within the physical firewall. As a consultant, you must propose a scalable solution that continues to protect all
the cloud customers while still securing the existing physical network.

In this scenario, which solution would you propose?

A. Deploy a vSRX cluster in front of each customer\\'s servers while keeping the physical firewall cluster

B. Deploy a software-defined networking solution

C. Remove the physical firewall cluster and deploy vSRX clusters dedicated to each customer\\'s servers

D. Replace the physical firewall cluster with a higher-performance firewall

Correct Answer: C

QUESTION 2

Your customer is getting ready to deploy a new WAN architecture. It must be simple to set up, address hub scaling
concerns, and allow the automatic addition of new sites without requiring changes to the hub site. They want to deploy
either AutoVPN or Auto Discovery VPN.

In this scenario, why would you propose Auto Discovery VPN as a solution?

A. Your customer requires direct spoke-to-spoke communication

B. OSPF support is required

C. Only Auto Discovery VPN supports the automatic addition of valid spokes

D. Your customer needs to configure the hub site only once

Correct Answer: A

QUESTION 3

You are using SRX Series devices to secure your network and you require sandboxing for malicious file detonation.
However, per company policy, you cannot send potentially malicious files outside your network for sandboxing.

Which feature should you use in this situation?
A. Sky ATP

B. UTM antivirus

C.IPS

D. JATP
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Correct Answer: D

Juniper Advanced Threat Prevention Appliance Reference: https://www.juniper.net/us/en/products-services/security/srx-
series/datasheets/1000654.page

QUESTION 4

You are designing an SDSN security solution for a new campus network. The network will consist of Juniper Networks
Policy Enforcer, Juniper Networks switches, third-party switches, and SRX Series devices. The switches and the SRX
Series devices will be used as security enforcement points. The design must be able to change the VLAN mapping of
the switch port of a user that is already authenticated to the network in the event that the end user device becomes
compromised.

Which component satisfies this requirement?

A. certificate server

B. RADIUS server

C. Security Director

D. DHCP server

Correct Answer: C

QUESTION 5

Click the Exhibit button.

( T h
Destination

virtual NAT

Physical Server Physical Server Physical Server Physical Server
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Which type of security solution is shown in this exhibit?
A. service chain model

B. centralized model

C. inline security model

D. de-centralized model

Correct Answer: A

Latest INO-1332 Dumps JNO-1332 VCE Dumps JN0-1332 Braindumps

Latest INO-1332 Dumps | JNO-1332 VCE Dumps | JNO-1332 Braindumps 4/4


https://www.passapply.com/jn0-1332.html
https://www.passapply.com/jn0-1332.html
https://www.passapply.com/jn0-1332.html
http://www.tcpdf.org
https://www.passapply.com/jn0-1332.html
https://www.passapply.com/jn0-1332.html
https://www.passapply.com/jn0-1332.html

